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TR,
Y NH 44 (2) NHo1 (3) NH 48 (4) NHO06
The longest National Highway in India is
(1) NH44 (2) NHO1 © ' (3) NH48 (4) NH 06

— —
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a o= = - 8010457760

n v 111 II I . |

(2) III I I v

(3) III I v II

20 D I

Match the Industrial Regions and Industrial Areas :

a. Nashik . 1 Butibori
b. _Koihapur II. Shendra
c. Nagpur I11. Vinchur |
d. Aurangabad IV. Hupari
Answer Options:

.a b i d
1y v I 11 I
(2) 1II I ‘ II v
(3) III I v II
@ m IV I 1
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3. aTg i weh Iad Afire
4. AURIC t dfiera w9 am.
. WHCII TH TaauE 1,000 R w3,
5. fareh-ged sfehfis wgaren (sifeien) wm am.

g v faen .

Qi I ;

(1) ,%d A (2) da H a7for 9
I A, T ;M0 (4) %ad 3, 9 M1

The salient features of Aurangabad Industrial City :
a.  Well-planned and greenfield smart city.

b.  The abbreviation is AURIC.

c. The total investment will be ¥ 1,000 crs.

d. Itis a part of Delhi-Mumbai industrial corridor.
Choose the correct option :

Answer Options :
(1) Onlya (2) Onlyaandb
(3) Onlya,bandec (4) Onlya,bandd

4. m1981%2011mmﬁ?ﬁam&ﬁummaﬂﬁmmﬁawaﬁmm
A s e ?
A1) =T ArEE A Hemadl, alEl gedl wa
(2) Wma@mwm
(3) dIRuUEd IEda Al
(4) Tor ArrEE Semadl

India’s population growth and temporal changes during 1981 to 2011 indicates the
population transition stage of

(1) Period of High growth with declining trend

(2) Period of Rapid growth

(3) Period of Steady growth

(4) Period of Stagnant growth

5. mw@a@@l 2017 TR WA HIO T T HeMAT=a1 ATy gaea

759 318 ?
) AT (2) TSEYA
(3) WA U (4) I T

Which State of India accounted for the second rank in National Highway length as
per report of Basic Road Statistics of India, 2017 ?

(1) Maharashtra (2) Rajasthan

(3) Madhya Pradesh (4) Uttar Pradesh
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(2) R d ST femrentiy Ry

(3) ueg fawm

Which ong (?f the following regions indicates the example of high intensity zone of
earthquake in India ?
(1) The Zone of Peninsula

(2) Himalayan Belt from Kashmir to Assam
(3) Central Zone

(4) Ganga Plain

-

-
7. 2011 A SPTORISHT RETTie e S/ m@#/aﬂ%/m%a' ?
¥, AU SArREEE TR 45-23 IR, W

3. TR A Sihaeid die s wd.
F. TR AU SwEE 5,08,27,500 FaE TR
T, TETSEe FEwET e Tl e wei B .

gt I |
@) st - MPSC COMBINE GROUP C
® v " TEST SERIES AVAILABLE
(3) ad 37 A H

M w3 - 8010457760

As per 2011 Census which sentences is/are false for urbanization in Maharashtra ?

a. The percentage of urban population is 45-23..
h. Maharashtra stands third in urban population.

: . htra is 5,08,27,500.
lation of Maharas ) o
Z. }IJ'}:ba;n poptu :banization Jevel is in the Nandurbar district of Maharashtra.
. e lowest u

Answer Options:
(1) Onlyaandb
(2) Onlyc
(3) Onlyaandc
\(4) Only d
oo wrrad) oy | SPACE FOR ROUGH WORK
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1) 1 11 v I

(2) III 1 II v

(3) III v I 11

4) 1V 11 111 1

Match the correct pairé of Irrigation Schemes and Districts in Maharashtra :

_ District - Irrigation Scheme
a. Satara I. Mukane
b. Nashik II.  Vishnupuri
c¢. Nanded IT1I. Kanher
d. Yavatmal IV. Bembala
Answer Options:
a b c . d
(1) II I1I v I
(2) III I I \Y
(3) III v I II
4) IV IT I1I I

9, AT Jfife arg onfor @ def SACH T TR
(1) *e () e

(3) T ) aEm

The State which produces natural gas and mineral oil in India is
(1) Kefa]a (2) Himachal Pradesh
(3) Goa (4) Assam
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(1) wﬁrm W, A, migg
\/(c/) m' auiv m,m‘u‘rf\g?n

- Ny

(3)  wmfed, aui, waw, i
(4) Wﬂmauim%m

Which of the /i :
s = following options shows the correct ascending order by length of the
tributaries of Godavari river 9

(1) Pranhita, Pravara, Wardha, Manjra
(2) Manjra, Wardha, Pravara, Pranhita
(3) Pranhita, Wardha, Pravara, Manjra
(4) Manjra, Pravara, Wardha, Pranhita

11, wﬁwm?mwmmm-mmmm 1938

T gl Sl et ?
1) . & o @y . e anfor <. i
(3) SI. STRI=oR (4) <. =g e g e

On the basis of soil formation, the first detailed and scientific soil classification of

Maharashtra was done in 1938 by :
(1) Dr.D. Smith (2) Dr. Kellogg and Dr. Thorp

(3) Dr. Dokuchaev (4) Dr. Basu and Dr. Shirur

12. TR i SR T R i e FH S WTe e ?
(1) Zamg, sr=rq 371 el @t
A g, amrEre sfor e Erel
(4 zamy, awh s et @
Which crecks are included in t

Regional Division ?
Achara and Karli crecks

nkot and Kelshi crecks

al and Terckhol erecks

he ‘Central Konkan' of Maharashtra’s Konkan

(1) Deogarh,
(2)  Rajapuri, Ba
(3)  Dharamtar, Kalaw

(4)  Dahanu, Vasai and Datiware cr
\\ P
TSt s / SPACE FOR ROUGH WORK =

ccks

Scanned with CamScanner



U14 8 B
13.  @wg anfr fufeta 9 fore e aed
AT 38 3 I g &) T AN T 0B
(3) T W T gB v (4) I I T G

The Laccadive islands and Minicoy islands are separated by

(1) Eight Degree Channel : . (2) Nine Degree Channel

(3) Ten Degree Chénnel (4) Zero Degree Channel

(1D qé?ﬁtr.aﬁgamm e : '

R epn— OOACADEMY PUNE

(3) 3w Hieetia TEEE (W) g™ 8010457760
\4Y st FeEd T g

As per G.T. Trewartha’s climate classification, Western Coastal Plain and Tripura
State exhibit which of the following types of climate ?

(1) Humid Mountain Climate
(2) Tropical Arid Climate
(3) Tropical Monsoon Climate

(4) Humid Sub-tropical Climate

(,15,; Wﬂmﬁuﬁmﬁmmﬁzﬁmﬁmﬂﬁﬁﬁﬁmv
(1) 58% (2) 65%
\/(345% (4)  95%

Which of the following percentage indicates the proportion of rain received in
Maharashtra from North-Western monsoon ?

(1) 58% (2) 65%
(3) 85% (4) 95%
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(1) foawpl fam

(2) UTEH Ha "

AT ﬁﬁmmﬁm

(4) I S yzfy

was intro . ) _
bank customer disputes duced in 1995 for inexpensive and speedy settlement of

(1) Prudential Norms
(2) Customer Service Committee
(3) Banking Ombudsman Scheme

(4) International Accounting Practices

17.

¥, TR, I G I 1048 TEY T I aftdn -t et (941

| @ Hﬁ?fg:} . L. w91 2R, Tretfies 2o . =gt 3=, rrq' pIE

F. TG Iead @i ufgen srEan 1951 7ed ST ifi eI 1954 WA AT,
T Fedrean faumideht Hoa fqum/ord W&@m@ﬁ?

ot I
\A(q,—ﬁ;ﬂ (2) R 3 M«
(3) Fq 31 3TV F (4) aq & I *

Consider the following statements :
After Independence, .the Government of India appointed the National Income

Committee in August, 1948.

b. The committee consisted of Prof. P.C. Mahalanobis, Prof. D:R. Gadgil and
Prof. V.K.R.V. Rao. |

¢. The first report of the Nation
final report in 1954.

Which of the statements given

a.

al Income Committee appeared in 1951 and the

bove is/are incorrect ?

Answer Options :
(1) Onlya
(3) Onlyaandc

(2) Onlyaandb
(4) Only bandc

PaT.0;
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18. v Wi S anfor wave IR SeErEA vl FAES FOM
fora den o,
(1) fzd &=
(2)/;%2@311:53@;“
\AB)  TETE
(4) =fe wd

is the apex organisation to provide credit for the promotion of
agriculture and allied activities in rural areas.

(1) Reserve Ba
o sebik  MPSC COMBINE GROUP C
(3) . NABARD TEST SERIES AVAILABLE

(4) All of the above

8010457760

19. ér;ﬁaanfaamzom 22M%Wmmﬁma‘mmm9
BetS g sl e
\ 2T el o anfr s g

(8) 9rwiteRt

(4) AT H

What is the biggest source of income for the Central Government in the Union
Budget 2021 - 22 ?

(1) GST
(2) Borrowing and other liabilities
(3) Income Tax

(4) Corporate Tax

20. 2011 wmmm@aﬁmﬁm
(1) 117 wfq =t fe. (2) 157 wfa <. fo .
(3) 282 wfa <. . )" 382 wfa <. R,
According to the 2011 Census, the density of population in the country is
(1) 117 per sq. km. (2) 157 per sq. km.
(3) 282 per sq. km. (4) 382 per sq. km.
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( “@ﬁ?ﬂw'a T8 3 el e wmmens Ga I -
\/:‘ < ﬁwm mrﬂ . .u :na
:j: ;lsﬁwm‘a m@?ﬁm 1A 313 8.
i THEEAT AT ARRIHS FaY IR, -
\h ' fe:i " ¢ fOH_OWing statements is not correct regarding qualitative
c ara'(I:'h : -ICS of I I.ldla’s population and urbanisation ?
(1) o eTe 18 POsitive co-relation between per capital income and urbanisation.
(2) Tlllel‘e 1S 10 co-relation between urbanisation and employment.
(3) ere 1? Increase in standard of living with urbanisation.
(4) There 1S negative relationship between urbanisation and population below
poverty line.
22. mﬁmﬁmmmmmawa@mm
(1) T B8 (2) HiETEA ST
(3) fea sfem @) e S
Which of the following market segments is growth and profit oriented in the Indian
Commercial Banking System ? ' '
(1) Mutual Funds . (2) Mobile Banking
\A3) Retail Banking (4) Internet Banking
23, mﬁmmw@@ﬁaﬁ,mﬁmm@aﬁ.mm:

T} s / SPACE FOR ROUGH WORK

.

¥, qifeh G9<h 9. AfHEo-

F.  GEATcHS 9Th S. ﬁa‘—lgﬁm
Tt I

(1) ®aq 37 3T % w(ﬁixqﬁm:ﬂaﬂﬁg

D (4) ad T IO S

Productivity in Indian agriculture 1s mai
are ;
a.  Technological Factors

¢.  Institutional Factors

nly dependent on two sets of factors. Those

b. Human Resource

d. Irrigation Facilities

Angwer Options :
(1) Onlyaandc
(3) Onlyaandb

(2) Onlyaandd
(4) Onlycandd

P.T.O.
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(1) SOt St
(3) m:ﬂa%—éam (4) &Fd F IS

Which of the following is/are the objectives of Fiscal Responsibility and Budget

Management Act, 2003 ?
a. To set limits on government borrowings under a time-bound programme.

b.  To achieve zero revenue deficit and bring down fiscal deficits.
c. To make the government responsible for ensuring long term macroeconomic

stability.
d. Improving transparency in the fiscal operations of the government.
Answer Options :
(1) None of the above (2) All of the above
(3) Onlyaandb (4) Onlycandd

25.

mﬁ?&\gﬁﬁéﬁ%@mmﬁ g ?
O OOACADEMY PUNE

AT e o 8010457760

Which of the following is not an 1mportant objective of Special Economic Zones in
India ?

(1) Generation of additional economic activity

(2) Promotion of export

(3) Development of agriculture

(4) Creation of employment

Wammm@mmm 1000 TS S=qmm

1 e HelreA Yoyt G .

1) A o R () ThIAEEE (&) w Raw

The infant mortality rate is the number of deaths of children under of
age in a given geographical area during a given year, per 1000 live births.

(1) One year (2)  One month (3) One week (4) One day

27.

qmmﬁ?a;wmnwg?ﬁgwm (anfden wdam 2020-21) Frem W anfie g
(1) U-AmFmT (2) S-ABAE  \ BT V-3ATHRR (4)  Z-3THRN
According to Chief Economic Advisor Krishnamurthy Subramaniam (Economic
Survey 2020-21), what may be the shape of Economic recovery ?

(1) U-shape (2) S-shape (3)  V-shape (4) Z-shape

Foed] HIHITS! ST / SPACE FOR ROUGH WORK
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R
5% q 25% 1 _
iiﬂ) at i: thc)u: (2 5%A35% @) 5% 30% (4) 5% 20%
18 S ¥ o
foiia® nge of tax rateg for taxable income as per the Union Budget, 2020 of
)y 5% to 259
() 5% t025% (2) 5% to 35% (3) 5% to 30% (4) 5% to 20%
20' . ﬁuﬁ m 3{]%3 2
3, VAT I e qoeh —
e W Tiaeht somdt <t s et T T
: AT S RS FeA T AR
' G TTHTE HEHTRTE
wardt I SIS
) v N (2) Wad § AT H

Which of the following statements are correct ?

a. The price of electricity for Indian households is lowest in the world.
b. The price of electricity for Indian industries is highest in the world.
c.  Cost recovery in distribution of power is satisfactory in India.
Answer Options : '

(1) Onlyaandb (2) Onlybandc

(3) Onlyaandc ' (4) None of the above -

0. @l faam fo=md =
A m@ammaﬂ.maa@mmﬁmqmmmm.

4.

%.

1 e oo/ v fer/foe e Se/ e 2

3?&:' . .
A) st aE - (2) A
(3) waa

(4) wad 3 3nfor 9

Consider the following statements :

a.
b,

C,

Which of the statements given a

Answer Options:
(1)

(3)
TR K
ST | SPACE FOR ROUGH WOR

International trade 1s based on differences in prices of goods and services from

country to country.
The terms of trade refer

their price ratio. . . . o .
The Balance of Payments record in International Trade is maintained in a

standard double entry book-keeping method.

to the exchange ratio of export and import goods or

bove is/are correct 2

(2) Onlya

All of the above (4) Onlyaandb

Only ¢

P.T.O.
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g1.  0-025 TR sHiee Sl s g U mi'a )
7 e =i (2) ufued =g
(3) aTEH zgh ' (4) WG 7
A neutron having energy of 0025 eV is a/an . -
(1) Thermal neutron (2) Epithermal neutron
(3) Fast neutron (4) Slow neutron
32. ! dmHETAD av[@ I AEHTERIS T, I T .

D s

(2) ﬁr‘aﬁaﬁw—eﬁh%aawm%
(8) el A HH HA § T I
(4) IANHTIE

Transfer of heat from a body at low temperature to a body at higher temperature is

(1) impossible
(2) possible by keeping both the bodies in contact

(3) possible by doing some external work
(4) None of the above

33.  eafieh wrfaet el arara S

(1) Heviameeh 3T e e "

(3) At srEiEmd=R Sy wAte 8010457760
(4) Sl T ‘ ‘

The minimum audible frequency of sound means
AT)  threshold intensity of audibility
(2) lower pitch limit of audibility
(3) upper pitch limit of audibility
(4) None of the above

34. fam 3R, |
(1) wfcaes wHiceh . (2) wEETSH THi
(3) st wHfes 4) Yoy T

Diamond is a
(1) Metallic Crystal
(3) -Ionic Crystal

AT Covalent Crystal

(4)  Molecular Crystal
FO| ST STRTT / SPACE FOR ROUGH WORK o
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5. —— W U, 3w qme q gem e W fans anfer stz shmme
R B s s

(D) EH e (2) e feéfasmen
(3) FIE AT ()~ s sfegfuftamen
.'.I‘ho.hlgh Strength-to-weight ratio of alloy mainly recommends their use
in aircraft and automobjile industries.
(D lfght steel (2) light titanium
(3) light copper (4) light aluminium
36. Tl STAAUNG FAGHTA I Argio SawTss @l G189 YgN adr 2.
A SR 2 N IS ITEATd.
(1) %ad G i Afcegss 3 \=p
(2) w fceeigs nfr ferem

(3) v sfesass, frd, wiuse e <

In lower atmosphere, smog is formed by the reaction between hydrocarbon and
nitrogen oxide. This interaction produces as secondary pollutants.

(1) only ozone and aldehydes

(2) only aldehydes and ketones

(3) only aldehydes, ketones, peroxyacyl nitrate
(4) ozone, aldehydes, ketones, peroxyacyl nitrate

37, 3riE B HISga Wivlt 3R RO
. U s ot samed It onfer eraEe . -
§. g4 gogmed Y= 9 e o, @

TR By IrEeren gt
Tt iR fore /e S e/ 2
\ﬂrwg{’amﬁIE (4) ad W M1

Amoeba is a protozoan animal because

4. itis a cellular animal without tissues and organs.

h. it is the simplest
psceudopodia 1s present for locomotion.

and most primitive of all animals.

c.
d. it is a pore-bearing animal. |

Which of the statement/s given above is/are correct ?

(2) Onlyaandec

(I) Onlya
(3) Onlya,bandc¢ (4) Onlycandd
\. n y - 3
. T%e g o / SPACE FOR ROUGH WORK P.T.O.
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a.  onfrmd film — 990 fyan el
| M
G T wp— PSC COMBINE GROUP C
«  wmiam _  ge gheera TEST SERIES AVAILABLE
3. grREhm — &g Al 8010457760
ot I | '
(1) %4 9 a1 % : (2) A F A3
(3) e 31 ofUr & N g afierdehl =
Choose the correct pair/pairs of the animal/animals and their scientific
name/names ? . _
a. Asiatic lion — Panthera leo persica
b. Royal Bengal Tiger — Panthera tigris
¢. Indian Rhinoceros — Rhinoceros unicornis
d. Thamin Deer — Cervus eldi
Answer Options : J | |
(1) Onlybandc (2) Onlyc and d
(3) Onlyaandc (4) All of the above
39. @relieeh FIvR Wi aqEr/aggi guwd: S Sfaare e el ?

3. FUYUTR woft &, 3wEer gfl
*. A 9ol S. qaﬂ(mrﬁsnuﬁ)
qardt I

(1) ad & M0 S (2) wad § 3701 B

(3) wad A M/Wﬁ

Which of the following animal group/groups was/were the first vertebrate to become
adapted to life on land ? g,

a.. Reptilians b.  Amphibians
¢. Mammals d. Aves
Answer Options :

(1) Onlycandd (2) Onlybandd
(3) Onlya (4) Onlyb
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(3) e

@ fommay (4) Sf.um. fagg

(1)10 T;::,(:)\ (ll:'red the natura] classification system of plants ?
phrastus (2) Bentham and Hooker

(3) Carl Linnaeys (4)  G.M. Smith

1. SR BN e et g
SRRl AI0 et Hofivd +1me ?
() TR T Ry ©2) g g Y

(®) TR gt (4) TR FRFT
Which of the following is the causal organism of Wheat Rust disease ?
Puccinia graminis tritici (2) Xanthomonas citri
(3) Puccinia purpurea (4) Plasmopora viticola
42. WWWWWW@W?
(1) Fre 2 fafiw (3) @ (4) <
In Agriculture, groundwater is tapped by
(1) canals (2) sinkingwells (3) ponds ' (4) = tanks
(B i FR B & HiTe A T ST T 7
" (1) LDL®eRE (2) VLDL hleieetd
(3) LDL ¥ VLDL & A4)” HDL siceia
Which of the following cholesterol is considered as good cholesterol ?
(1) LDL cholesterol (2) VLDL cholesterol
(3) LDL and VLDL cholesterol (4) HDL cholesterol

M, Fomr et (qafis) TYSHER TR @ €, qogl W ol . a1 e (
f%'WUF“) 19 g ? BRI
) g A
\/2) nyiE gffusd
(3) forvirada ngHe
(4) =ta-gegfer Sreciaa YHE AT
When kidney tubular reabsorption fails, copious urination follows. What is this
discase (metabolic disorder) called ?
(1) Diabetes mellitus
(2) Diabetes insipidus
(3) Juvenile onset diabetes

\& Non-insulin dependent diabetes mellitus
"OR TS} I | SPACE FOR ROUGH WORK | 5T 0.
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(2éﬁw#mmm OOACADEMY PUNE
A gfem
(3) W - 8010457760

(4) TG, MER, T&e

Which of the followir\lg vaccine is administered by oral route ?
(1) Bacillus Calmette-Guerin '

(2) Sabin '

(3) Salk

(4) Mumps, Measles, Rubella

9 & aifech, de @A 17 $o FgH Ulgel. SR HIGA 24 WA A, ® =

- yadiges fahdt et Bt 7

(1) 415 2) 362 (3) 346 4) 326

A devotee, while going to pray in the temple, put flowers on each step that indicated
its number. When he offered 9 flowers to God, he had 17 flowers in balance. If the
temple had 24 steps, then how many flowers did the devotee have ?

(1) 415 2) 362 (3) 346 4) 326

47.

S e SRS die e I TR, A s awdt snfir 30 Fe . warE . Fa A
grtRe dezdl anfor 20 fop.Hft. yam@ Al R Al Ielihs desdl iU 40 R AL warE .

by @ 3T R e
@ - X?’S f

(3) I=mA

-~

Srikant stands facing north on the ground. He turns right and travels 30 km. Then
he turns left and travels 20 km. Again he turns right and travels 40 km. Again he
turns right and travels 35 km. Which direction is he facing now ?

(1) Kast

(2) North-East

(3) South-West

(4) South
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8. =n ﬁ;mﬁﬁm feeh smia. g fyur fafom @ amfae &5 s o fee sm.
{%mﬁ-h;\‘ M R Wmﬁwmaﬁfamﬂm e oy iepioAECES

s wf i, MPSC COMBINE GROUP C

F. SR gorh '
N mﬁm@;ﬁ?@mm TEST SERIES AVAILABLE

T T e Seam @ o o 8010457760
(1) 3% 2) w37 3) #TE ETT

The .fo.llowmg question consists of five statements followed by several options
con.SISt.lng. of three statements put together in a specific order. Choose the option
which indicates a valid argument i.e. the third statement is a conclusion drawn from
the preceding two statements.

Statements :

a. Amitis a boy. .

b. Some boys do not play cricket. o P \ v &
¢.  No girl plays cricket. 6 0 AQ ("_\3

d. Amit plays cricket. L LI é—/x’

e. All those who play cricket are boys. T @

Answer Options :

(1) dca (2) ceb (3) abd (4) eda

9. T 100 freneten et 40 framedl wber St et s 60 frenell rfia 3 s,
&m@m§@ﬁmaﬁmﬂﬁﬁm.mmmmmm
5 | @2 15 8 4 16

100 students, 40 students passed in Mathematics and 60 passed in
oth Mathematics and English. How many students

(1)

In a class of -
English. 8 students failed in b

passed in both the subjects ?

1) 5 @ 15 (3) 8 @) 16
50, mmsﬁqsﬂ%ﬁ,ﬂ'ﬂ'amﬂm‘ aﬁ?ﬁamﬁqﬁﬂwm.maﬁmﬁ@m
m, ﬂ'f m ﬁF?ﬁ i-qT m?ﬂ ?.T?ﬁ’c_f 9 L‘ . " -
(1) 25 (2) 29 (3) 27 MS « @ 4
no three of which are collinear. If lines are drawn by

ints 1 lane
There are 8 points in &P ! . '
jOir‘:irr?gd:vio pI())ints, how many such lines would be drawn ?
(2) 29 (3) 27 (4) 28
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51. ) Frerd weas v e @mgﬁm\mﬁgﬁm”maamﬁﬁ(mw
mmmmmaﬂmaﬁé e feasft wht 12 A e T
4 ﬁ'ﬂ"“‘umﬁm%eﬁﬁﬁ%g%uﬁa"

(1) 10 fufR 2) 13 ffR (3) 9fufwe (414 fufe

Niraj’s watch is fast by 5% minutes in a day. Piyush’s watch lags behind by
35 seconds per hour. If their watches indicated the same time at 8 o’clock in the

morning, then by how many minutes would Neeraj’s watch be ahead of Piyush’s
watch that night at 12 o’clock ?

/
-
\'w

(1) 10 minutes (2) 13 minutes (3) 9 minutes (4) 14 minutes

;65; 43\

52. mmwmﬁ-mﬁﬁa@ﬁmm?
Tonerer, wae, faafea sh

\,m/@ (2).OOO
%Q @ @

By which Venn-diagram can the given sets of words be shown ?
Teachers, Writers, Married persons.

O
(1) @ (2) .
P PocDC\Lv\ .’Ttr;L "'.
O

o X
.
(4) @ ,Z§z" V3 |

53, T A=1B=2C=3,...,Z=26T GODFATHER’ & ¥ a1 figret ?

(1) 7-15-6-4-20-12-8-5-18 (2) 7-15-4-6-20-8-5-18-18
(3) 7-15-4-6-2-10-8-5-18 7-15-4-6-1-20-8-5-18

IfA=1,B=2 C=3,..., 7%= 26, then how will you write the word ‘GODFATHER’?

(3)

(1) 7-15-6-4-20-12-8-5-18 (2) 7-15-4-6-20-8-5-18-18
(3)  7-15-4-6-2-10-8-5-18 (4) - 7-15-4-6-1-20-8-5-18
Hoed] HTHTATS ST /| SPACE FOR ROUGH WORK
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T m:m?l I1®n 99 wem Rden smia. Q-0 w20 #esfiyds arm et
mga“'é. TR SEL 19 119 fdveht mfaet 7 a2 o1 Tt wEA s T fafra
o &0 omhe oy ey
1. S e,
qatdt IW

\},\/\g‘?&m MR M 11} = wig prawr aTRR.
(2) II & qfomy e arfoy I%?ﬂlﬁm@w TR,
(4) T T e T8,
In the fo'llowing question, events I and II are given. You have to read both carefully
and decide their nature of relationship. You have to assume that the given
information in I and II are true and decide the correct answer.
Events :
I. Mr. Hari was killed in a fire.
II. A fire broke out in the company.
Answer Options: ,
(1) Iis the effect and II is its principal cause.
(2) IIis the effect and Iis its principal cause.
(3) 1l is the effect, but I is not its principal cause.
(4) None of the above is correct.
o » S : \C

55,  w@relter gy faETa §E e X3 3

343, 324, 3375, 10648, 64 qGGQ
—— : \ -
1) 64 . @ 337 e
um/32 4 (4) 10648

Find the odd man out from the following numbers :
343, 324, 3375, 10648, 64

(2) 3375
(1) 64

(4) 10648

I (3) 324
H WORK _ P.T.O.
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56. fem wgw 60 fnof), aiamdd) wfid 20 fnafl, s amﬂ(ﬂfjﬁ.tﬂ. anA R qreed, ki
20 f.fl. s arh (12 fn0. 3 a afeca 20 f6fl. sial amft 15 F6 . 4T e, T
"1 60 foh i Sraren yamawde quwd an fEd 2 -
/( ) arEft 12 fos o, (2) arsft 13 fop.aft,

3 14 o5 1, (4) arft 11 fRaf. |
Niraj covered the first 20 km distance, out of a total of 60 km, at a speed of 10 km/hr,

the next 20 km distance at 12 km/hr and the remaining 20 km distance at 15 km/hr.
What is the average speed of N iraj to cover the 60 km distance ?

(1) 12 km/hr (2) 13 km/hr
(3) 14 km/hr (4) 11 km/hr
L T8 T w6 femmia pof w o v v w18 femi g s, e S TR S
Sz e T T FM G0 v e Ram e 2 o
-! Ry (1) 45 (2) 4 (3) 5 «,(4)"?-5
A /; L N eha can do a work in 6 days and Rekha can do it in 18 days. How many days would
A it take them to do the same work if they worked together ?
= (1) 45 (2) 4 3) 5 (4) 35
N N
~C B8, U Y 2 9y T ; 05
2w 98 A 9 Tshale ST SThH T 1,800 T 1,890 TR, @ ol A
\v 28 ZI. Tl = o Sl 2t 2 o em—
N )10 2 9 (3) 12 v 15
3(/ The simple interest and compound interest for 2 years of a sum is & 1,800 and
:7\ ’9, ¥ 1,890 respectively. What is the rate of interest per cent per annum ?
GLZ, V(1) 10 (2 9 (3) 12 4) 15
0
.‘«-‘592\/0@?«!1@@ HIUET 94T 7 mmﬁi‘aﬁém g ?
W BO sz 17 (2) 5/8,11/17, 9/13
% 437 9/13,11/17, 5/8 () 11/17,913, 5/8
WU ’/” ~  Which of the following is in descending order ?
« 7
7 el 0(1) 5/8, 9/13, 11/17 (2) 5/8,11/17,9/13
e 83 98,1117, 508 (4) 11/17,9/13,5/8
- - - - . . o ——
60. _ =W Y9 Yook 35% 7 KAl HodArge o1 T qEA 40% I e, G
C Lo ZETETd I 9Ed B
e - () T%wH TN (2) 9% TR (3) 9% FH A (4) 5% 3yey
41 ° o |
,.'J‘f _~ On reducing the entry fee by 35% in a park, the number of visitors increaseq by 409
f'f ' Then the percent increase or decrease in the income from the entry fee ig ) ‘
o (1) 7% decrease  (2) 9% increase  (3) 9% decrease  (4) 59 decrease
/L 2 b e
Y S ——
/J/ T BT ST / SPACE FOR ROUGH WORK
ﬁie)i ] 2 00
\ L A
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g;glzm:g fmmren (NeRrDp) stgatergan arerhrad) T mid frenmm o

al. 8 WU gfeas 109 arerria Sfr g,

a. 2018 WY 3 39827 woy AieaeT e

. QOIS'HQ aﬁm TATERIT=AT 21401 T2AT TSI,

8. SRR AT watfus 2832 e WEMER 9361 (2018). 7

et R e i s 2
B TR A, 7 et (2) ad &, F M
(3) W A, & N g . (4 afwwd

{Accordlng to the report of the National Crime Registration Department, the
information related to Child Crime is as follows : '

a. Inthe year 2018, 109 children were sexually abused every day.

b. 39827 such incidents were reported in 2018.

c. In 2018, there were 21401 incidents of rape of girls.

d. The highest 2832 incidents of rape on children occurred in Maharashtra (2018).
Which of the above statements are correct ? |

(1) Onlya,bandc (2) Onlyb,candd
(3) Onlya,candd ~ (4) All of the above
2. wed frmw favm & wrelietd T faefim wward el A Al A1 UL
ugd fEa0 Fuer (NACO) wv[ Hes@er Sl |
af” e B Frds we
(2) A F Fed e faum
(3) udim FEm e SR
(4) g am fAeE wEEE
Department of AIDS control has been merged with and now it is
known as National AIDS Control Organisation (NACO).
(1) Family Planning Association of India
(2) Department of Health and Family Welfare
(3) National Leprosy Eradication Programme
~ (4) National TB Control Programme ' _
@'5,) m,m,maammmmmmm
mmmmmwm’wmmﬁémwm?
(1) T | (2 I wew
(3) wEWTE (4) foEr
The schools, colleges, universities, educational as well as private institutions may
witness historical places. Keeping this aim in view, which is the first State in India
that decided to set up ‘Jail Tourism’ ?
(1) Rajasthan (2) Uttar Pradesh
(3) Maharashtra (4) Bihar
e
TYR BTl < | SPACE FOR ROUGH WORK PTO.
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A, g et @ wifin g anfiea’ TET g,

7. ‘aEreiafid e a4l i @ onvifd dgTe.

&. mmwwwﬁz@@ﬁﬁ%ﬂﬂﬁwamm
3. foew wehem smum wgd v wfvem.

TR DI T ST AR/ 2

(1) ad 3 7for & (2) %aa d

(3) T H, F MM T ' (4) et T @ A

Following is the work of Dinabandhu Sahu, honoured by NIRI :
a. A book of Farming the Ocean’ on sea algae.
b.  Production of short film ‘Biodiversity of Life’ based on Mary Kom.

c.  Fellowship and Research in International Society for Energy Environment and
Sustainability.

d. Sea farm training based on Project Chilika.

Which of the above sentences is/are incorrect ?

(1) Onlyaandc (2) Onlyb

(3) Onlya,candd | (4) None of the above

65.

frefz-30 <t TR S ARl T 2
. o - 3357 kg

3. I oA e, qEER @ SERr Fa 0
%, 12, 12%1&?3;@@9!@;@
g I UERE] TRUERY SWE

ﬂ‘ﬂ’fﬁﬁi: ‘
(1) ad H M1 & (2) wFd 9 TS
(3) Wad A, H IS *\;Pr)/aﬁaﬁﬁaé

Which of the following are characteristics of GSAT-30 7

a. Weight — 3357 kg
b.  Provides high quality Television, Telecommunication and Broadcast services
c.  Equipped with 12C, 12Ku Band Transponder

d. High quality communication satellite
Answer Options :

(1) Onlyaandc

(3) Onlya, candd

(2) Onlybandd
(4)  All of the above

Foed] HTHTAT! PN / SPACE FOR ROUGH WORK
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Which of the following novels written: by Sonali Navangul has won the ‘Marathi
Sahitya Akademi Award’ in 2021 ?

(1) Swachhand (2) Dream Runner
(3) Prakashvata (4) Madhyaratrinantarche Taas

67.

FAIRATI F1oet qee R (2019) sifiria S99l i ST ST AR
#. WWW( )mwﬁaaﬁa&ﬁﬁmmﬁwﬁﬁ?ﬁamﬁa

9. TN st @ o . ¢

F. THINE TERR fierer

3. S wie, aﬁmﬁzgmmmx

qare I |
1) *,9,%3d - 2) =43, %
AN T, ®, W, H 4) %9, 9,3

Winner of the Nobel Prize for Economics (2019), Abhijeet Banerjee’s life journey till
date is given in points below. Reorder them and choose the correct option.

a. Contributed in preparation of Scheme Nyuntam Aay Yojana (NYAY) for
poverty eradication in India.
b. Written a book titled ‘Poor Economics’.

¢. Received the Infosys Prize.
d. Studied economics at Presidency College, Kolkata

Answer Options : ,
(1) eb,d,a (2) d,b,a,c
(3) d,c,b,a (4) ¢, b,a,d
68. 2021 uw%aﬁﬁﬂﬁqﬁmﬁ@eﬁﬂaﬁﬁwmmmm?
V‘(qﬂﬁtﬁﬁ‘-& | (2) ded T ATE 7 $an
(3) a——ema:{wmmasm (4) Fom 23

Lionel Messi was selected for which of the following awards in 2021 for the seventh

time ?
(1) European Golden Shoe

(3) World Soccer Player of the Year

( 2) World Player of the Year
(4) Ballon d’Or

";a“"?mmmm | SPACE FOR ROUGH WORK
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H. UUHE.NE. 99 TH
© st g OOACADEMY PUNE
F. SR Teek fifte 5z o 8010457760
T TR Teawe, oo, s fgd
T I
(1) &3 31 anftn 5 | (2) . W F AN S
\)3)/ B ¥ (4) wF A

On the eve of 75™ Independence day, who was honoured with the peacetime
Gallantry Award — ‘Ashoka Chakra’?

a. ASI Babu Ram

b.  Police Constable Altaf Hussain

c. Lt. Governor Girish Chandra Murmu

d. Governor of Mizoram, P.S. Shreedharan Pillai
Answer Options :

(1) Onlyaandb (2) Onlycandd
(3) Onlyb ' (4) Onlya

70. @reie fum daE e |
. W%Wﬁémﬁmﬁﬁama@
g, I oW ? el weEEdt it Hila wwren oul wre wom e 9 usy

3.
it Fory R R ST/ ?
(1) %ed A . (2) $xa s
(SA = e A (4) TR R T

Consider the following statements :
a. Kiwi is India’s first certified organic fruit.

b. Arunachal Pradesh is the first State in the country to obtain ap organic
certification for its Kiwis.

Which of the statements given above is/are correct ?

(1) Onlya (2) Onlyb

(3) Bothaandb (4)  None of the above
Hoed] BRI AN / SPACE FOR ROUGH WORK
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(1) 681 4

MAY-U) aiafa 18 @cwarfh, 2021 wda #

(27 1288 @@

3) 165-8 Er@
(4) 109-2 @@

Under Pradh . : '
Elin Mantri Awas Yojana (Urban) (PMAY-U), as on 18'" January, 2021
10uses have been sanctioned.

{663 Lakhs (2) 1288 Lakhs
(3) 1658 Lakhs (4) 1092 Lakhs

79. a1 =qaal, Wmuﬁmﬁnwmmzaﬁﬁaamﬁmmﬁwﬁm
iy 3 B9 e aut sfiem Tefien ?
(1) 2015 (2) 2016 37 2017 (4) 2018
Ir.l which year dic.l Avani Chaturvedi, Bhawana Kanth and Mohana Singh create
history by becoming the first women pilots to be ‘commissioned into the fighter
stream of Indian Air Force ?
(1) 2015 (@ 2016 (3) 2017 (4) 2018

73 IR AU AT FEAH T oFde g faue ‘TeE-57 HaEae I YT el ?

(1) = . \(2)" TE (37T.TE.IR.)

(3) H.TIE. | 4) &

Which Space agéncy has launched the first all-electric experimental aircraft X-57
Maxwell’ ? : .

(1) LAPAN (2" I8RO

(3) CNES (4) NASA

74,

_Ly” RISAT - 2BR1

M warard) o | SPACE FOR ROUGH WORK

1.7 01, =8, ~ .48 (PSLV — C48) T e MeTE YRR 11 feder, 2019 T

T U] iAA JTE HABR Arguard 3T ?
(2) EMISAT

(4) GSAT -31

(3) CARTOSAT - 2B
s launched by India on 11th December, 2019 through

Which artificial gatellite wa
PSLV - C48 Jauncher ?

(1) RISAT - 2BR1

(3) CARTOSAT -2B

(2) EMISAT
(4) GSAT -3l

‘P.T:O.
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H G TS ~ Far e enrardh wfeed e TEA A TR
S YN AT 1550 midh fgh wfi dReET SR

F T vETeTereh e,
S. W’mmg@m_
TR I

W = 3amma  OOACADEMY PUNE
2 5, %, s 8010457760

(3) &, 9, Fanfrg
4) €, 1,9 fr=s

Select the right option regarding the Chairperson of 93™ Akhil Bhartiya Ma:athj
Sahitya Sammelan, Senior Literary Author and Thinker, Father Francis Dibrito’s

life happenings till date.

a.  National Award for translation of ‘Subodh Bible — Nava Karar’ book by Sahitya
Academy.

b.  Chairperson of 15" Marathi Christi Sahitya Sammelan in Pune.
¢. The ordination as a Catholic priest.

d. Chief Editor of newsletter ‘Suvarta’.

Answer Opﬁons :

(1) e¢,d,banda

(2) d,c,aandb

(3) ¢ b,aandd

(4) d,a,bandc
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V7 El X
T &Mmmﬁmmmwmﬁmmwm
¥ Hfi=rie Fasten mawm foe e w @ e wmemen Parm o A
h f% T 1 HGHT g ged O S i=an giel e TRvaTsA Hrvmerd fewm
aﬁ'&ﬁqﬁ* mmamﬁﬁwﬁvﬁmmm
BT A e s/ 2
(1) % 31 V2] wE i (3) SRS AW E (4) A, FAF

Consider the following statements :

a. The I})OSt of the Sarpanch (who is elected by the members of Gram Panchayat)
or Upa Sarpanch, as the case may be, that has fallen vacant (due to
’ﬁ]SIgnatlon) shall.be filled in within thirty days from the date of such vacancy.

b. 1€ post of the directly elected Sarpanch that has fallen vacant shaii be filled
within three months from the date of such vacancy.

c. A membgr of a Gram Panchayat whose post has become vacant due to absence
for continuous meetings of the Gram Panchayat shall not be eligible for
re-election, _

Which of the statements given above is/are correct ?

(1) Onlya (2) Onlyaandc (3) Onlybande (4) a,bandc

7. TR U vErEa stfufmrde am femm aften’ saden wad ama e Gue e
o ,

P d mwmmwmmmmmmmmmm.

4, 7 foshe Afdidie ST ThydEeen FH TEdE 396 a9 T - gamden

. faear geeid v fedaramien & Tode 9% goe At S, o

3. 39 w99 @ fa=n wefag e swma. -

3 71 faen veftg Fo@-Afe sw@e. -~

~

T o fae A s ?
(1) %aa &, 9, & M0 2 (2) wad =, % o §
S8 wad a1, @, & oM § 4) al« @@

Consider the following statements about the provisions of the Village Development

Committees of Maharashtra Gram Panchayat Act :

a. The total number of members in a Village Development Committee shall not be
less than seven and not more than seventeen.

b.  Not less than one-third of its members shall be from amongst the members of
the Gram Panchayat. |

¢.  Not less than one-half of the members shall be women.

d.  The Deputy Sarpanch shall be its ex-officio chairman.

¢.  Gram Sevak shall be its ex-officio member-secretary.

Wh ich of the statements given above are correct ?
(1) Only a, b,candd (2) Onlyb,cande
(3) Only a, b, ¢ and e (4) All of the above

\ :
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(1) TS9TE 9g ® &Ud
(2)  sifgs vt Fan © HUea
(3) STy gftyg 1@ wUd)
B Tt v T
The ‘Sarkaria Commission’ favoured _____ -
(1) abolition of the office of the Governor
(2) abolition of All India Services
(3) abolition of Inter-State Council
(4) None of the above
79.  USErEA wEiUadeEe ) @reliethl woe Hum st 3;[%¢

A aﬁmwﬁw&w&aﬁmmﬁﬁammr@m

(2) w= AEYE T faftmeeen Bt S 1.

y (3) ﬁmmﬁmm@mwﬁqm@aﬁawmﬂim

(4) ahethl THg A

Which one of the followmg statements is correct about the Advocate General of the
State ?

(1) He shall hold office during the pleasure of the State Council of Ministers.

(2) His remuneration is determined by the State Legislature.

(3). He may appear as an advocate in cases against the State Government for ¢
private party.

(4) None of the above

80.

far (37) : wEEHE YgdmEl AT FReHee™ R st ugdien R amy
FRY () :  TAEATR FrICHges™ 0 & demams e neer g .

AT ‘o anfor @ S wleT enfn 9 R S 9 Ay e s,

(2) ‘o7 oftn T A W, W T ¥ W ¥ A vy a7

(3) ‘& 7 AR AR, Wq T & THH AR

(4) ‘o g g AR, Wq T B qUHK AR.

Assertion (A) : Legislative control over administration in a Parliamen
different from that of Presidential system.

Reason'(B):  An important feature of democratic government is
~ control over administration.

(1) Both ‘A’ and ‘B’ are true and ‘B’ is the correct explanation of ‘A’

(2)  Both ‘A’ and ‘B’ are true, but ‘B’ is not the correct explanation of ‘A,
(3) ‘A’ is true, but ‘B’ is false.

(4) ‘A’is false, but ‘B’ is true,

tary system is

the' legislative
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1. ‘ord favwes amdig . TN
8 w3 Qreftedhr HIord ferur/A (i siz/amed 2
. 3 'é“a.' arrit aees wig v A
- O TSAATST=A Rkt frar wiean A a7
9. e o onf faies amy foar A s e Suft e T fo s
= ?ﬁ‘ﬂ%{%ﬁ S TR a1 i e gw Pl seam aeee faamen s faum
BRSACES IS CRiC T o -
qgidt I
(1) %ad I a7ifor § , ' \Q?/W -
(3 ®E 3, 7 afer Wy w31, F A0 g
Which of the following statements related to ‘Money Bill’ is/are correct ?
a. It can be introduced either by a minister or by a private member.
b. It cannot be introduced except on the recommendation of the Governor.
c. If any question arises whether the bill is a money bill or not, the decision of the
Governor is final.
d. In case of a deadlock over a money bill, the Governor can summon a joint
sitting of Legislative Assembly and Legislative Council.
Answer Options:
(1) Onlyaandb (2) Onlyb
(3) Onlya,bandc (4) Onlya,candd
82. Wmmwmwmmmﬁmmm
qegesft A ST AL el T |
(1) erepainy forear TEY Ao HEeAl qEHa
(2) iy Fro T HEE FEren e dan S @ g g
3 e foea T e e agHaT |
(4) mﬁm@wmmmmv@ﬁwwﬁmmw
The Parliament of India acquires the power to legislate on any subject in the State
List in national interest if a resolution to that effect is passed by the
(1) Lok Sabha by a majority of its total membership.
(2) Lok Sabha by a majority of not less than two-thirds of its total membership.
(3) Rajya Sabha by a majority of its total membership.
(4) Rajya gabha by a majority of not less than two-thirds of its members present
aJ [ »
—— and voting.
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83.  wEwwTem wawhy wrefie faur fa=mm 0 - e s
3. fmﬁmﬁmwmmmmmwmm”m i
A= TeEa U Wi A JHal THE. . ' .
|. hvﬁwma{@mmqmmﬁmﬁsﬂwm?@w
AT ITehATa.

. méaﬁ%mmﬁmaﬁmmmq@mwmmqh
S W@y fu Iyremy e ajwft?u?ﬁ ne) dodm weaewa fawm A HHT

i,

T Hivrd} fyumy et amed ?
(1) %aa 1, 5 a7f] & 2l B A, F AT
(3) wad ¥ anfr =  (4) 0w W

Consider the following statements with reference to Maharashtra :

a.  Zilla Parishad may meet as often as may be necessary, but one month shall not
intervene its last meeting and the date of its next meeting.

b.  The President of Zilla Parishad shall call a special meeting on the written
request of not less than one-fifth members.

c.  Every meeting shall be presided over by the President, or if he is absent, the
Vice President shall preside over it.

d.  In the absence of President and Vice President, the meeting shall be presided
over by the Chairman of subject committee. :

Which of the above statements are correct ?

(1) Onlya,bande (2) Onlyb,candd
(3) Onlybandec (4) All of the above
84.  HAHTATUY, TATAT Io TN q&T =mndfiar aqfyy : GHIIY 37HaT,

(1) 3@ 7% =rardiemen

(2) TSI A T TR A ’

(3) wHe FUae saeh g =rnefiai=n :
Generally, the High Court of a State consists of a Chief Justice and
(1) nine other Judges

(2)  such other Judges as may be determined by the Governor

(3)  such other Judges as may be determined by the Parliament

(4)  such other Judges as may be determined by the President
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85. e MR sraraert & et e ravarardh ey fafaw s e en wen
?Wwwﬁmﬂmﬁmﬁﬁ%m@ﬁ@@@@ﬁﬁﬁwﬁﬁ?

(1:/ ST W9 g (2) ST FOETH SR
3 . .
AT Sl TG T (4) <. %, gh
The Constituent Assembly appointed a number of committees to deal with different

tasks and works of Constitution-making. Who was the Chairman of the Rules of
Procedure Committee ?

() Dr.B.R. Ambedkar (2) Alladi Krishnaswami Ayyar
© Dr, Rajendra Prasad (4) Dr. KM. Munshi
86. I SISl &M -
H : T
3. ST et 1.  foganerh e
9. T ER e I fefoeom ufedt goed
F.  WErH Sifoan g 1. e Fsa
s WEld wiel sve wd IV. 319 STt
Tt I
H | 3 T
O m v m 1 OOACADEMY PUNE
I L S T 8010457760
3) II ITI I v |
(4) III II vV |
Match the pairs : '
A B
a. Balshastri Jambhekar I.  Establishment of Widow Home .
b. Gopal Hari Deshmukh - II.  First supporter of female education
¢. Mahatma Jyotiba Phule III. Congregation for remarriage
d. Maharshi Dhondo Keshav Karve IV. Orphanage
Answer Options: '
a b ¢ d
(1) 111 v 11 1
m/n 111 v I
3) 11 111 I v
L = = ] P.T.O.
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87. 1932 Weh e veiorie fkeh fawA Foh gE el :
N, 3fewm Fomm IEA
. T MPSC COMBINE GROUP C
. mﬁﬁm LS TEST SERIES AVAILABLE
T. TH-HIAe U3as ol
watd T ; 8010457760
(1) % 31 anfor 5 | (2) wad & A0S
A (4) wH A
The first Aviation Company that was started in 1932 by an Indian Industrialist was :
a.  Indian National Airways ' |
b.  Tata Airways Ltd.
¢.  Imperial Airways
d. Indian Trans-Continental Airways Ltd.
Answer Options :
(1) Onlyaandb ' (2). Onlycandd
(3) Onlyb (4) Onlya |
88.  “Qul @l Tl e W qC wuH TAq GwiS GHR SN WS, St s fa A

o T 9 freum . o 7 1 i

3. TN WIS M.

g, =T T

F. AT der

. . ATCHRH UIgUl dEsHt

gaidt 3@

(1) a3 M3 (2) wad 3 anfr @

3w T . 4) % &

“For realistic progress of the nation, progressive religion should be spread out. As
long as religious awareness is happening, till then realistic success is not achjeved."
This opinion was of

a. Dr. Bhandarkar G.G.

b.  Justice Ranade

c.  Justice Telang

d. Dr. Atmaram Pandurang Turkhadkar

Answer Options:

(1) Onlyaandd (2) Onlyaandb

(3) Onlyd (4) Onlya
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(D, wwwai'“mlmmmmmﬁ
31 (2) 9Tt
Narayan M e , (4) FTIRN ) .
followi ing n eii};?;e%;ﬂ;hande presented the questions of workers in which of the
(1) San
3) Deeflf:;;h()hand“ka (2) Prabhakar
(4) Dnyanprakash
90. CISISESIED | SIGIF
. ST W :
5. P SELPE
5 awEE fn I frosfia Gemaer Teme
' ﬁﬁ - IIL Iy e =
g'”ﬁ}”'“’”ﬁ'ﬁ V. fig oE e goe = R
(1) II ITI v I
2) 1 IV. ~ m I
g I 13Y I 11
4) IV II 111 I
Match the following :
a. Pandita Ramabai I.  ‘Stree-Purush Tulana’ Book
b. Ramabai Ranade II. Establishment of Nirashrit Seva Sadan
c. Tarabai Shinde III. Establishment of Sharada Sadan :
d. Janakka Shinde IV. Establishment of ‘Hindu Ladies Social Club’
Answer Options : :
a b c d
(1) II III JAY I
(2 1 JAY II1 II
(3) III v I I
4 v.. 1 m 1
91, 3.4, 1849 HEY TS 39 T AT TOHER TS TIATII PV TR &t 2
& Frea ST ik L L
F. arrﬁ a*ﬁf '
\)ﬁiﬂ 3R/ ?
2) A § A F
31Tﬁ’1 El N
( oA o1 (4) Had 3, F AT S
:) !F;'a & S-abha was established at Mumbai in 1849 and gave the emphasis on the
aramhans
following reforms : e b.  Women’s Education
a. Widow Rema te Barrier d.  Acceptance of Idol Worship
¢. Breakthe (50;’] ents given above is/are correct ?
Which of the stat€ (2) Onlybandec
(1) Only a and b (4) Onlya,candd
(3) Onlyc
7o ey s | SPACE FOR ROUCH WORK P.T..
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92. R SR Gt 329 @ BT ABAE

¥, SwrEw Burs dEd
. mErem M
%. &9, aifen
3. o deYad
Taidt Iy
A T
(1) IV I1I
2 1 IV
(3) 1II I
4) IV I

st e

I ..

1l méﬂﬁm‘mm@érmp
I1L. AT, 2T S |
Iy, Ay G T S IS

OOACADEMY PUNE
I 8010457760

II
IIT
111

Match the following regarding and emergence of Indian workers and Labo

movement :

a. Narayan Meghaji
Lokhande

b. Mahatma Gandhi

c. B.P.Wadia

d. Lala Lajpat Rai

I.  First President of All India Tracie Union
Congress

II. Establishment of Madras Labour Union

IIIL. _ Establishment of Ahmedabad Textile
Labour Association

IV.  Placed the problems of labour through
Deenbandhu newspaper

Answer Options :

a b c d
_ud/lV IT1 II
(2) 111 vV I I1
(3) 11 I IV IT1
4) IV | I 11 111
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. TERIEE weg ST T o st e fram/fnm F @ 2
5. i ﬁ;mmmg‘mm. g
F. OWRAR o T Hatd wyg e dwe ) e e,
m W % - ! - - / . ; ’ " N
S. Tl eaEn CEMIEIC R )

3 a ED 3
(1) W99z =g

@ G T WS siie  artard) e B 2E
s TR T mooid afwiey wmSgEn  drREeErd de 2
Ei'a‘i%ﬂalélrﬁm Wy g S
A w5 3 Al TAS FATS SRS

4) =T TR defes w oo oie T A
T B 2ed
th) made the following thoughts/statements regarding the effects of colonialism on
Indians ?
a. Indian economy ran overseas.
b. Due to economic abstraction, world known enriched India became poverty
stricken. ’ |

c. An exploitation of Indian economy is like Ransom.
d. By taking sword in hand it is time to manage our business.

Answer Options :

a b c d
(1) Ramesh Chandra Justice Sir George Lokhitwadi Gopal
‘ Dutt Ranade Oxenden Hari Deshmukh
(2)  Justice Ranade  Sir George  Ramesh Lokhitwadi Gopal
; Oxenden Chandra Dutt ~ Hari Deshmukh
(3) Lokhitwadi Gopal Ramesh Justice Ranade Sir George Oxenden

Hari Deshmukh Chandra Dutt

:-e Ranade Lokhitwadi Sir George Ramesh Chandra
(4) Justice Gopal Hari Oxenden Dutt
Deshmukh ‘
¢ 3 frgnor B, W 9, 9 W a3, @
94. 7z qm?ﬁ?';rﬁf% Wﬁmﬁmm.’mmm&ﬁmw .
HTZ=I JHT e il BUCIREESE]
(1) w3 (4) Huren fue

(3) e HP T

to Dadabhai Naoroji, ‘What was being drained out was

» 1 ‘ . o . [N .

According that could g(-n(,-mtc more economic development if invested in India.’ Fill
Jatb ¢ .

’

iven rig Lion,
. . with the given right op '
in the blan!ff’ :"f']t p,-uducli"" (2)  Indian currency
((%) ?an-d]cr;tmn pmdut‘li(’" (4) Potentinl surplus
3) Entire€
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Ui4 JaqreATd a1e Hiedt ?
Wﬁmﬂﬂ
95. %ﬁwm:ﬁwwﬂmﬁ"ﬂﬂéw a. &F, A
3. SR, TR T a'a‘[q’:mﬁ

T L i
TR o e R AR 7 i % i 3

(1) w9 o anfr & @) 7d =t 2TmRd

(3) waaE, Fanfirs e to commercialj
Which of the following crops productlon increased du alizatiop ,
agriculture during British Period ? ? b. Sugarcane, Cotton

a. Tea, Wheat d. Tobacco, Opium

c.  Jute, Indigo

Which of the statements given above are
(1) Onlyaandb

(3) Onlyb,candd

correct ?
(2) Onlya,c and d
(4) Allof the above

96. wWaTT ffew T v ferare fea ‘@?ﬂ ?
FufEe Wt e feg,
(3) Faoad @) e gmad
Which award was given to Pandita Ramabai by the British Government ?
(1) Kaisar-e-Hind (2) Kaisar-e-Hindu
(3) Kaisar-e-Lady (4 Indian Super Lady
97.  TSETE Irqeh=ATeAT SHidien ufgen T B0 g ? |
A, de HiE 7. foafaen F. o fq g. dedl fired
R o /R e /s 2 |
(1) & 31 afir & | A F I T
(3) ®Fdg (4) %S
Who was the first leader of the revolution of native for farmers ? 4
a. Baba Bhand b. Bijania c.  Kajara Singh d. Tantya Bhilla
Which of the statements given above is/are correct ?
(1) Onlyaandb " (2) Onlyca dd ‘
(8) " Onlyb | (4) Onlyd i
98. AT AT GEATd WIefedhr Hore TSI Tt 9
(1) o anfon fi @ e
(3) =09 92w 3nfor 3ffe \JA’J/ ; :
The Civil Rebellion began from which of th
(1) Punjab and Sindh ° fol]OWlng‘reglons ?
(3)  Andhra Pradesh and Orissa (2) Mﬂhurashtra and Karnataka

Bengal
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99, wrefit faanass = gl Foh @ e, 3 si
. W A EHE Ao ArefErEE g qisa.
3. Fe Hme o frareh e s s A,
z- 1::%31 Eiar=amdt ‘e’ € wEn T el
: " % e
: ww S fafea.
o | C S
(1) S wrard ifi g AEEE kTR T
(2) ToTETE TS o e dfear wET Tifers =g
(3) e Freseh T T ST T g
\ A4 TR g dfgar o TS T ST
Identify the following people who have done work for emancipation of women :
a.  The problem of child marriage was placed in the famous Drama : ‘Sharda’.
b. Before the Hunter Commission, the condition of women’s education was placed
in numerical data.
c. ‘Shardashram’ was established for widows. l
d. ‘Maze Puran’ an autobiography was written.
Answer Options :
. a b c d
(1) Pandita Ramabai Govind Ballal Anandibai Karve Ramabai Ranade
(2) Ramabai Ranade Anandibai Karve Pandita Ramabai Govind Ballal
(3) Vidhyaben Ramabai Ranade Anandibai Karve Govind Ballal
Nilkanth
(4) Govind Ballal Pandita Ramabai Ramabai Ranade Anandibai Karve
100. 1857 = IR Weferis Hiord fawm Fle a8 ?

3. WY gaatua femors T (o) T T AT TR e feverEETEr g g
¥ 7 |

a e v e Tl A e e i

ugTdl I '
(1) ad 31 A0 H ' \(2r” e 9, % IS
(3) W 3, % IS (4) e % AT B
ts are true regarding the Revolt of 1857 ?

Which of the following statemen
4. With treacherous attitude Pant Sachiv of Bhor Chimnaji Raghunath (first)

tendered Rango Bapuji Gupte to Britishers.
b.  Rani Bakabai of Nagpur Bhosale Dynasty supported the revolters.

Chimasaheb of Kolhapur Chhatrapati Dynasty participated in revolt.

c.
Shirsal of Sawantwadi also

d.  Son of Rango Bapuji Gupte Sitarampant and Ramji
participated in the Revolt.

Answer Options :

(1) Onlyaandc

(3) Onlya,candd

(2) Onlyb,candd
(4) Onlycandd

P.T.O.
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(8) vy fafga soen fafre e =2t wm (5 7F) TR, TEgfErerfafem et @
TR T TR AT A FA oA S 9 M, o W e @ AR AT A
STl e “whamed ‘o= fomm sy woaEEe sfufem-ge” e aagEn Frar
A e 9 A R B O auten wwEEren o/ fR T wh 79T e dere aE

SIERAESH

(@) T TAIEHEE A fafed Fech do ducara Sigaen € sEyEE S AT

U3 WA GE SR, WA CHETRETE WIvaTqe SHean sqed SRR W1
THAGERTERS 7 faratat wa s sravas e,

q. 5. 201.

q.%. 201.

o1l URs]
HATE = T FOITETE! BV Yeid: T Het ? ‘
(1) @l garie aod (2) svatag foemEmR
(3) TN THHIEA T ‘ (4) TIITSHT TR

@mﬁlﬁww“(a)ﬁmmgqﬁa”aﬂa@.a@%mmm“(m”gﬁa.
AT WIAAIHT T . 201 FEORA ITHAS ()7 R ade UiTe omited wed
TrEfa EvE TR, ‘

®©® ® @ O

ITFhala 1 T GThAIhEATIS Helid 9 U0 SRR S% GRIFTET. EITeRTET -

e hTeAT VTS STeds JTord, Ufer an wirés o anos 4.
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